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Problem Solving in Multiplication

55 % A
Short questions :

MB2200 - AZBay5MR > AR K? O
B is 200. A is 5 times of B. Which one is larger ?

@BRA200 > AAYSAE » FAB K ? )

B is 200, which is 5 times of A. Which one is larger ?

@BA200 > A4 BREAwY S V427 ®
B is 200. A is 4. How many times is B to A ?

@B2200 - AZBw34E » KABB#F - @
B is 200. A is 3 times of B. Find the sum of A and B.

®BA2300 > AZ450 > ALbBay24% b %2 ®
B is 300. A is 450. How much fewer is A than 2 times of B ¢

it E

Calculating :

D 107x7=( ) @) 18x( )=450 @) ( )X3=207
@ 154+11=( ) ®351+( =9 ®)( )+11=108
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Multiple choice :

D 4 AHZT004 > shek B HZT04 > 4h4b 98 2 L bhbh oy 422

Mary has 700 stamps. Ann has 70 stamps. How many times are Mary’'s stamps to Ann's ?

A. T00XT0 B. 700+70 C. 700470 D

@ oA EZT00H » hek R M4 97045 > bk A 2 % D 42

Mary has 700 stamps. Ann's are 70 times of Mary’s. How many stamps does Ann have ?

A. TO0XT04700 B. 700+70 C. T00x70 D

@ B A IHEZT004H » RhhoT04 » hbA H2E % D42

Mary has 700 stamps, which is 70 times of Ann’s. How many stamps does Ann have ?

A. 700270 B. 700x70 C.700=704+700 D

@ #hihH EZT004 > bhik 09 bbb 697042 > Shhkb ¥ 4h % B 42
Mary has 700 stamps. Ann’'s are 70 times of Mary’s. How many more stamps does
Ann have than Mary ?

A.700x70-700 B. 700x70 C.700-700+70 (::]

® A EZT004 > Zhkok 9704 > Shhktb 4b 4 2V #44?

Mary has 700 stamps, which is 70 times of Ann’s. How many fewer stamps does
Ann have than Mary ?

A, 700+700+70 B. 700X70-700 C.700-70070 D

© 4hih A HETO0H » bh4k b 4b b 09TE D T0K » 4k A 5 2 5 D 42
Mary has 700 stamps, Ann has 70 less than 7 times of Mary’'s. How many stamps

does Ann have ?

A, TO0XT-T70 B. 700770 C. TO0XT+70 D

@D oA EEZT004 » k4 T4 S T0H > dh4k A 2 5 D 4 ?
Mary has 700 stamps, which is 70 more than 7 times of Ann's. How many stamps
does Mary have ?

AL TO0XT+70 B. (700-70)+7 C.(700470)+7 D
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